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HSSC CET Group D Question Paper 22 Oct 2023 1st Shift
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(1) A-III, B-1I, C-II, D-IV
(2) A-III, B-1, C-1V, D-II
(3) A-III, B-II, C-1V, D-I
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(1) A-1V, B-I, C-III, D-II
(2) A-1V, B-I, C-II, D-III
(3) A-l, B-1V, C-1II, D-II
(4) A-1V, B-III, C-1, D-II
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(4) g
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1.

Mirror changes the direction of light that falls
on it. This change of direction of light by a
mirror is called?

(1) Displacement of light

(2) Scattering of light

3) Reflection of light

(4) ‘Reversion of light

(5) Not attempted

Match the following I and II :

I : Il
Name of the Organ of
Organism Respiration
A. Human being I.  Trachea
B. Earthworm II. Lungs
C. Insects III. Gills
D. Fish IV. Skin

(1) A-III, B-I, C-II. D-IV

(2) A-IIL. B-1, C-IV, D-II

(3) A-IIIL B-II, C-IV, D-I

(4) A-IL. B-I, C-III, D-IV
" (5) Not attempted

Match the items in column-I with those in

column-II :
Column-I Column-II
A. Salivary gland 1.  Bile juice
B. Stomach -~ _IL Insulin
C. Liver ——,'_llll. Hydrochloric Acid
D. Pancreas -~ IV.  Amylase

Choose the correct option :

1) A-1V, B, C-III, D-II
(2) A-IV, B-I, C-II, D-III
(3) A-L, B-1V, C-II, D-II
(4) A1V, B-1II, C-I, D-II
(5) Not attempted

The process of loosening and turning of the
soil is called —

(1) sowing

(2) harvesting

(3) winnowing

(4) tilling

(5) Not attempted
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5. Pasteurisation of milk is :
(1) Heating of milk to about 70°C for about

30 seconds and then slowly cooling it
and storing.

(2) Boiling of milk and thcn slowly cooling
it and storing.

(3) Heating of milk to about 70°C for about
30 seconds and then suddenly chilling it
and storing.

(4) Boiling of milk and then suddenly
chilling it. ‘

(5) Not attempted

6. Which of the following food items gives
blue-black colour with iodine ?

(1) Starch

(2) Minerals

(3) Protein

(4) Fat

(5) Not attempted

7. Typhoid is caused by =
(1) Bactena
4£2) Virus
(3) Protozoa
(4) Fungi
(3) Not attempted
8. Condensation is the process of —
(1) Evaporation of petrol

(2) Separation of sand from water by
[~

decantation
(3) Conversion of water vapour into its liquid
form i

(4) Conversion of water, into its vapour
(5) Not attempted

9. Large scale storage ot;)gfains is done in :
(1) Silos and granaries_;
(2) Jute bags [~
(3) Jute bags and metallic bins
(4) Metallic bins
(5) Not attempted
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Match the following :

Column-I Column-II
Name of the Movement
Animal

A. Snake I. Swim

B. Fish II. Slither

C. Bird 1. Walk

D. Cow IV. Fly

(1) A-IL, B-III, C-I, D-IV
(2) A-Ill, BAIL, €-1V, D-1
(3) A-IL, B-I, C-1V, D-III
(4) A-1, B-1V, C-III, D-II
(5) Not attempted

Dark coloured objects absorb
than the light coloured objects
(1) less

(2) equal

(3) very much less

(4) more

(5) Not attempted

The minimum distance required by a normal
human eye to see the objects clearly -

1) 50 cm

(2) 30 cm

(3) 40 cm

4) 25 cm

(5) Not attempted

Pathogens are microbes which :
(B Cause diseases

(2) Spoil leather goods

(3) Spoil standing crops

(4) Spoil food

(5) Not attempted

Which of the following is an antibiotic?
(L Alcohol

(2) Sulphuric acid

(3) Erythromycin

(4) Sodium carbonate

(5) Not attempted

Anodising is a process of forming a thick
oxide layer of :

(1) Silver

(2) Aluminium

(3) Gold

(4) Copper

(5) Not attempted
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(1) 90-110

) 110-130

() 130140

(4) 80-90

16.

17.

18.

19.

20.

How many total number of canals are there
under 'The Bhakra System’ in Haryana?
(1) 472 Canals

(2) 528 Canals

(3) 452 Canals

(4) 521 Canals

(5) Not attempted

Where is IIIT, Haryana located?
¢1) Sonipat

(2) Kamal

(3) Kurukshetra

(4) Hissar

(5) Not attempted

Who amongst the following was the first
Chief Minister of Haryana?

(1) Bansi Lal
(2) Bhagwat Dayal Sharma

(3) Rao Birender Singh
(4) Banarsi Das Gupta
(5) Not attempted

Fatchabad, is home to two very important
monuments. One is The Lat; which is the

other one?

(1) Humayun Mosque
(2) Dharamkshetra
(3) Banawali

(4) Arjuna Sthal

(5) Not attempted

How many (approximately) Community
Development Blocks does Haryana State

have?

(1) 90-110

(2) 110-130

(3) 130-140

(4) 80-90
(5) Not attempted
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21. fFrafafaa suet o far it - 21. Consider the following statements :
A. zﬁ‘awn ¥ 8 yomafys wuTT ¥ A. 'Il:lhere are 8 Administrative Divisions in
B. Wﬂgﬁﬂ‘sﬁmn%wswﬁmuwﬁt‘fﬁ aryana.
e ¥ B. Panchkula is one of the Administrative
o K Divisions of Haryana.
Suda By () # ? , Iy
(1) B L) ) o T B Which of the above statements is/are correct?
: (1) B only-
8; :a?;iﬁiq: & B (2) BothiA-and B
@) A ¥a@ (3) Neither A nor B
(5) T T e Gl By
g (5) Not a'tﬁttempted
22, e <l @ Prefirfs & & R e G T =
7 22. Charkhi Dadri does not share border with
(1) = which one of the following?
(2) =T - (1) Mahendragarh
' 2) Jhajjar~
fEar (
/fi;/w (3) Hisar
/(;S)V/B?IT'TR?I’ S i (4) Bhiwani
("' (5) Not attempted
23. sf@mn &g FTE? £
le E:E%F!Tl W 23. Which iscthe state flower of Haryana?
2) gﬁ-rq (1) Dahlia*
£3) m ~ (7) Tlllip:\
@) 3) Lotusr
(5) e wér T R (4) Marigold
(5) Not attempted
24, wfmm ﬁ naﬁ Ll zﬁvﬁn a9
T fy? e i Ll 24. In which year was the Pradhan Mantri Mudra
a Yojana launched in Haryana?
/%Tg ﬁzo;g” ) 8th April, 2018~
) 1(5) m‘ 2011 (2) 25t February, 2017
(3) 10th March, 2011
g) : m:a‘égifs ? (4) 8th Aliil, 2015
)y (5) Not attempted
25. ﬁﬁva‘\ﬁmmm%? o N
A1) m-.ﬁqa 25. Tomb of dbrahim Lodi is located at :
(2) Fuw (1) Panipjét)
(3) T (2 Kaitﬂraj_?
(4) Perari (3) Jhajjar
(5) wuT & A | (4) Bhiwani
SN (5) Not attempted
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@ A-IV. B-IL C-1. D-IIl |
2y A-IL B-IIL. C-1V, D-I
(3) A-IIL, B-1. C-II, D-IV
(4) A-L B-II, C-III. D-IV
(5) ST TE qrEd e

g e M (T T o) ¥ Hey § Preafuiad
F g7 Rt Fifg ¢ ‘\,‘3'\

A. 9E TF HA9 Gy gfea @4 )

B. 98 "R GXHN & & HAWI & WD
PrasomedT

sude ¥ § B GV HAT W BT

(1) &« B

o~

[

¢

(A ot B @l (&
G)TAITEB &
(4) Fa A s
(5) wax & AT |TEd o
ghamn @ Fa TEEl TR ¥ 7

(1) 2,00,00,000 — 3,00,00,000°
(2) 3.00,00,000 — 3,20,00,000
(3) 3,20,00,000 — 3,50,00,000
(4y 1,50,00,000 — 2,00,00,000,

26.

217.

28.

29.

30.

Match List-I Tourist Centres with List-1I their

location.

List-I List-1I
A. Sky Lark I. Hodal
B. Damdama [I. Gurgaon
C. Dabchick III. Uchana
D. Karna Lake [V. Panipat

Choose the correct answer from the options

given below :

(1) A-1V, B-II, C-I, D-III
(2) A-11, B-III, C-1V, D-I
(3) A-III, B-1, C-II, D-1V
(4) A-1, B-II, C-III, D-1V
(5) Not attempted

Consider the following statements in respect

of the National Security Guards (NSG) :

A. It is one of the Central ,Armed Police
Forces.

B. It comes under the administrative control

of the Ministry of Defence, Government

of India. ;

“Which of the above statements is/are correct?

(1) B only

(2) Both A and B
(3) Neither A nor B
(4) A only

(5) Not attempted &

What is the approximately population of
Haryana? W

(1) 2,00,00,000 — 3,00,00,000-

(2) 3,00,00,000 — 3,20,00,000

(3) 3,20,00,000 — 3,50,00,000

(4) 1,50,00,000 — 2,00,00,000

(5) Not attempted L

Which is known as the "Cherrapunji of
Haryana"? ol

(1) Kosli i
(2) Chhachhrauli '
(3) Rewari

(4) Thanesar =
(5) Not attempted

The ancient Fort of Madhogarh is located in
which district of Haryana? -
(1) Hisar

(2) Jhajjar o)
(3) Mahendragarh ™
(4) Sirsa -
(5) Not attempted fr
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mw%@ﬁgmés;mwzﬁumm%@
?

(5) STX & I A=A

74 9 fhhet 9 weam @ fhdhe st
Fel Rud &7

(1) dagen

(2) A==T

(3) Teum™

4 wleER
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2) @
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34.

35,

Consider the following statements about

Gross State Domestic Product (GSDP) :

A. GSDP of Haryana is more than that of
Bihar.

B. GSDP of Haryana is more than that of
Uttarakhand.

Which of the above statements is/are correct?

(1) B only

(2) Both A and B

(3) Neither A nor B

(4) A only

(5) Not attempted

For recognizing the efforts towards
environment conservation and promotion,
Government of Haryana has introduced the
award in the name of :

(1) Shri Chaudhary Devi Lal

(2) Shri Bhajan Lal

(3) Pandit Jasraj

(4) Shri Darshan Lal Jain

(5) Not attempted

Consider the following statements :

A. Hindi is the official language of
Haryana.

B. Punjabi has been accorded the status of
an official language of Haryana in the
year 2010.

Which of the above statements is/are correct?

(1) B only

(2) Both A and B

(3) Neither A nor B

(4) A only

(5) Not attempted

Where is former Indian Test Cricketer
Virender Sehwag's Cricket Academy located?
(1) Panchkula

(2) Jhajjar

(3) Gurugram

(4) Faridabad

(5) Not attempted

Haryana does not surround Delhi on
which side?

(1) South

(2) East

(3) West

(4) North

(5) Not attempted
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36.

38.

39.

40.

Join Telegram Group "gradein”

Which of the following is NOT a part of the
traditional attire for men in Haryana?

(1) Kamri

(2) Dohar

(3) Sopali

(4) Safa

(5) Not attempted

. Consider the following statements :

A. There are five Police Commissionerates

in Haryana.
B. Faridabad has a Police Commissionerate

located there.
Which of the above statements is/are correct?
(1) B only
(2) Both A and B
(3) Neither A nor B
(4) A only
(5) Not attempted

Where is Brahma Sarovar located?
(1) Fatehabad :
(2) Kurukshetra

(3) Hissar

(4) Sirsa

(5) Not attempted

Fomous sportsperson Yogeshwar Dutt is
associated with which sport? '
(1) Shooting

(2) Wrestling

(3) Javeline Throw

(4) Boxing

(5) Not attempted

In the dance form 'Loor', the word Loor
means?

(1) Ornament

(2) Music

(3) Crop

4) Girl

(5) Not attempted
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41. The single discount equivalent to twg

a1, 20% 0 10

42,

successive discounts of 20% and 10% is -
(1) 25%

(2) 28%
(3) 27%
@ 30%
(5) Not attempted

7()

P

42, % F9@ @t A, B, C 8 D @1 sieg
49-5%'MB2@TDWWWM?

The average df four consecutive numbers A,
B, C and DlS 49.5. What is the product of

; Band D? |

(1) 2450 (1) 2450 U
(2) 2352- ¢ (2) 2352

(3) 2550 » 3) 2550
(4) 2499 = @9 &
(5) ST é’“‘lm (5) Not attémpted

43.

X 8000 = i 5% i wmaRs @ @ =
W fEe adt # 7 9261 & o, waks

43.

In how many years will a sum of ¥ 8000
at 5% per dnnum compound interest,

it e A7 compounde@}}innually becomes T 92612
(1) 3 s (1) 3 Y
ot , -
W 1 ’.»4
2 [~ R iy
(2) 4‘3“ - Q) 45 L
l .
e @5 L
>
1 (2 1 (;'\
4) 33 @, )
3 o) ( )1 8 .8 'l
.

() T T T
Lt

(5) Not attdmpted
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44, 5-37FT WEE B Fem, S 12, 15 ot 18 §

45.

46.

IKSHR / X3 / Page 11

faifora &, B1W

(1) 10,015

(2) 10,020

(3) 10,080

4) 10,010

(5) ST TE T A

2«2x.3.?x_5_5, _23><3.2><§2>§7 3T

o

24x3%x5x 7% x11 @ HCF %
(1) 22 %32 x5x7x11

@) 24x3%x5°

3) 2%x3%x5° x7x11

@) 22x3%x5
(5) SaY El A d9red

2 9.30 iy fpeiom ar@ 7§ & fHE o AR
A A 8:7 % orgaa A freman T AR BT
1 e % 10 wRy R &, A qEC A F T
F g Wiy e @ E 7

(1)  10.60

(2) Z 10.80

(3) z 11.00

@)z 1030

(5) wux & ¥ =@

44.

45.

46.

The smallest 5-digit number which is exactly
divisible by 12, 15 and 18 is :

(1) 10,015
(2) 10,020
(3) 10,080
(4) 10,010
(5) Not attempted

2
The HCF of 22x33x5°, 23 x3%x5%x7

and 2% x3%x5x72x11 is
(1) 22x3%2x5x7x11

@) 24x3*x5

(3) 2¥x3%x5° x7x11

@) 22x32x5

(5) Not attempted

Wheat at ¥ 9.30 per kg is mixed with another
quality of wheat in the ratio 8:7. If the
mixture so formed be worth ¥ 10 per kg,
what is the rate per kg of the second quality
of wheat?

(1) % 10.60

(2) ¥ 10.80

(3)  11.00 y
(4) ¥ 10.30

(5) Not attempted
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47. a: b % 9% T ¥ W W I we el

AU ¢ dwrg B,

ac + bd
ct+a

(M

ad + be

()

ad;bc
C,.-d

3)

ab cd

@~
3) mjﬁ e

48. foh TR 1 3:5 % s ¥ Rfere R ey

i w=T AT R 75 %, < i ¥
(1) % 130,

(2) % 150"
A3) 2240,

(4) 7 120-

(5) ST 7& I @Ed

49. a 0<x<1 & @ Fre ¥ 4 wdt & wdt
ey

(1) x2
L
@

1 /
<«3) 2.5

(4) X 4

47.

48.

49,

The number that must be added to each term .
of a : b so as to get the ratio ¢ : d, is :

ac + bd
c+a

(M

ad + bc
c+d

()

ad - bc
c—d

3)

ab-cd
a-b

“

(5) Not attempted

A certain sum is divided in the ratio 3:5.

If the greater part is T 75, then the sum is :
(1) % 130 ~

) % 150

(3) T 240 M.

4) T 120 3

(5) Not attempted ol

If 0 <x <1, then the greatest number among
the following is : “

(1) x2

o
{ 5 H =T ST ¥

1
0)) .

1L
O

@ x
(5) Not attempted

A........m
7 3 T Lty 5 [
W, é
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1
A@?ﬁlﬁygmsﬁa‘fﬁmm%

2
W%memg‘mloﬁwﬁm

g@dl &1 A 91 B At Pt a7 ww wd @)
o 6T & Q1 & way ¥ 2

4
M 83
3
@ %%
3) 10
1
@ 75
(5) T T T AES

65 fdt &, & 99 g ¥ 2.6 10 fe @

| ¥ 3gay g He wiy et

32

\
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(1) 500
(2) 600
(3) 700
(4) 200
(5) oux T8 ¥ oAy

AU B ¥ mag: € 85,000 @T T 15,000 w0
B ANR A o) 7@ ad & a6, e & @
mmﬁmmwm?

(1) 3:5 <

) 153 b

3173 ke
4) 3:4 o,
(5) W w8 e wmer

; 1
50. A can complete —

51,

52.

3 of a work in 5 days and

2 g
B can complete 5 of the same work in

10 days. In how many days both A and B
together can complete the work?

4
(1) 8;

3
@ 9%
3) 10

1
4 75

(5) Not attempted T
A motorist travelled between two towns,
which are 65 km apart, in- 2 hours 10 minutes.

The speed in meters per mmute is:
(1) 500 |

(2) 600 ;

(3) 700

(4) 200

(5) Not attempted ;

~
Naed

-

A and B started a busmess by investing
% 85,000 and % 15,000 respectlvely In what

ratio, out of the following, their profits will
be divided after one year?

M3k
@) 153 =
@) 17:3 2
4) 3:4 j

(5) Not attempted

< rd & f7¢ T / SPACE FOR ROUGH WORK
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X 1‘ 2% -9
53 FT+‘x+,1+1—x2
W/
() 2 7( ’f/k(\/i/»?
273 m ?ﬁ’ [~

3) 4 W
?L/
. %j’*

(5) SO A I AR

54. Iséﬁrgﬁlaﬁ@aﬁf%'&qaﬁﬁﬁ, 3 qH

wﬁmﬁmmmm%’?
(1) 216

256

(3) 218

4) 36

(5) v & I A

55. afy /3=1.732 @ J2=1414 &, @

54.

55,

x 1 2x __9
5
x—1 x+1 1-x
M 2
2 3
(3) 4
4 1

(5) Not attempted

How many cubes of edge 3 c¢cm can be cut
out of a solid wooden cube of edge 18 cm?

(1) 216
(2 6

3) 218
(4) 36

(5) Not attempted

If 3 =1.732 and /2 =1.414, then

1 1
— 8'11-" : _— 1
\/§+\/§ \/§+\/§ is equal to
(1) 0.308 (1) 0.308
() 0.318 (2) 0.318
(3) 2.146 (3) 2.146
(4) 0.064 @) 0.064 )
5) TTT TE S A
( (5) Not attempted
IKSHR / X3 / Page 14 T% @1 % 1Y T / SPACE FOR ROUGH WORK p.10
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56.

57.

(S)Wﬁé’f%jm

58.

e
SHR/X3/Page 15
Ae0GF
T3k Ao p

b RsIUu w
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aft A+ B ard ¥, 'A, B &1 i 3y
A-Ba ad ¥, 'A, B & Uy 2y

A xB& &4 %, 'A, B& fuar ¥y
WAPxQ+R-SwH ad ¥ :

@ Q. SHufr ¥

@ S.PHEuH B,

(3) P.S % frar % |

@ P, S H gL E
(5) TTT TE 0 A

?ﬁﬁmﬁvﬁaﬂﬂ%wﬁmwaﬁaamqffm
m%lmeﬁ%mmmmmm
AT el ®l SFafda &3 uT um spdyed g
T

TOARHU

1 23 45
(1) 3,6, 1, 4, 5,
2) 3,6, 1, 8, 2,
3)2, 4,5, 1,3,
(4)4,2,1,6,3,5

W e &1 wgw #ifig, oAt 9 8 I
TaT e &, R weR e W, W6 W
W &
W:f%r@m:;ml?

I

) ww
@) T ol
4) e
(5) Tw 7 e =red

56.

If A + B means 'A is brother of B'.
A — B means 'A is the husband of B'.
A x B means, 'A ié the father of B'.
Then P x Q + R;fS means :

(1) Q is the husband of S

(2) S is the wife of P

(3) P is the ththég\ot‘ S

(4) P is the fathe’t}fn-la\\' of S

(5) Not attemptedt

-~

. A set of English letters is given below in a

jumbled order. Select the combination of
numbers so that the letters arranged
accordingly will form a meaningful word.
A R HU

4 576

o
I 23

3

19

3,6, 1, 4,

-

—

-
-

»

=
-t

|

tJ
.

o &

. 0,

w43 1, 3,

—
>

-
1J

2 16, 15

Not attempted

-~

. Choose the option: which is related to the

third term in the-same way as the second -
term is related to the first :

Pen : Write 1 Spade : ?

(1) Dig 5
(2) Cut N i
(3) Guard i
(4) Crush ™=

(5) Not attempted

< Hd & ft7g ¥ / SPACE FOR ROUGH WORK
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59, fam @1 TEF BT ¢

(1) forew

(2) fepaIeX

«3) fepetT

(4) 7™

(5) SuT T A A

60. @ HUA 3R E& T’ A Frepd 1 aix 1 Ru o

¥ Ry 7T U B g AT g AR S SR
o aet ° B S = Al B A, Prolg a5y

5 o T/E fred fw o ey % smum uwx
q&aTa ' ° Feadr ¥ /ey

T W AREr b ¥)
a1 TR adq ¥)

Fd:  (D- Po Rl wemrr ¥
(d) F® uda =Rt ¥)

(1) ¥aw Prepd 1 Praserar 31

(2) g 1 ol 11 @ Preea )

(3) 7 af fr=pd 1 &l 7 & 11 Preperar 21 -

) Faw Trend 1 Presear ¥

(5) ST & T AEd

- YR-FaE qAeg F 9%, g Th g9 B a1
%@%gq@amlw‘ﬁqw&mﬁ%a&f

A T B g e Rem & w7

T

(2) ufyawm

() STX—fyem

(4) =féor

(5) Tt =& T =@y

62. & w @ ¥ qu Few F wa B

143, 149, 158, 170,
185

(2) 190

(3) 192

(4) 182

(5) TAT TE T Ay

o d s S

59.

60.

61.

62.

‘Conclusions :

Choose the odd one out :
(1) Quintal

(2) Kilometer

(3) Kilogram

(4) Gram

(5) Not attempted

Two statements are given, followed by two
conclusions I and II. Assuming the staterpents
to be true even if they seem to be at variance
from the commonly known facts, decide

which of the conclusions logically follow(s)
from the given statements :

Statements : All rivers are mountains.

All oceans are mountains.
(I) Some rivers are oceans.

(I) Some mountains are
rivers.

(1) Only conclusion II follows.
(2) Both conclusion I and II follow.
(3) Neither conclusion I nor II follows.

(4) Only conclusion I follows.
(5) Not attempted

Early in the morning after Sunrise, Sunny
was standing facing a pole. The shadow of

the pole fell exactly to Sunny's right. Which
direction was he facing?

(1) East

(2) West

(3) North-West
(4) South

(5) Not attempted

Find the missing number in t

143, 149, 158,170, g(e);_e ish
(1) 185

() 190 |

(3) 192

@) 182

(5) Not attempted

(uy e, S (o
= @t oty 2t

S ——————————

T %1 % T T4 / SPACE FOR ROUGH WORK

< 65 g P.T.O.
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63. ﬁﬁ&ﬁaéﬁqﬁmaﬁmﬁwwm,?hwad

& T WEW w7 eifaw R @ av?
(1) gpar

g)/aﬁﬂr(

(3) fam

(4) TR
(5) ST T I 9y

64. B8 @ X, Y, Z, M, N 3 O wet % ikt He
W@Qﬁaﬁé%% ﬁﬁﬁarmw#r%ﬁs
aﬁrmﬁs’n'Z' 'X'aﬁ-('N'aseﬁaﬁéa%l

WW?@I%I’Y’ 'N'%'&maﬁf%

'Ofm&fﬁ@ﬁﬁt;}?é’f 3 M % w22
) Z3Y

(2) O3t X

(3) O @x N

(4) X st N

(5) STX 7 & AT

65. af s Hz W & 'VIETNAM' @1 2
'WKFVOCN' %, df &t ge wmor § 'BRITAIN'

& oy g ferar s ?
(1) cTywceip
(2) CTJIVBKO
() CTIuCIP

\

(4) CTIWBKO

63.

64.

65.

The fourth day of March in a year was
Thursday, what was the last day of the next

month in that year?
(1) Friday

(2) Saturday

(3) Sunday

(4) Thursday

(5) Not attempted

Six persons X, Y, Z, M, N and O are sitting
in a row facing towards North but not
necessarily in the same order. 'Z' is sitting
between X' and 'N'. 'M' is not at the end. 'Y’
is sitting immediate right to 'N'". 'O’ is not at
the right end. Who are the neighbours of M?

(1) Zand Y
(2) O and X
(3) Oand N
(4) X and N
(5) Not attempted ‘

If in a code language 'VIETNAM' is coded
as 'WKFVOCN!', then how will 'BRITAIN'
be written in the same code?

(1) CTIWCJIP
(2) CTJVBKO
(3) CTJUCIP

(4) CTIWBKO
(5) Not attempted

©) St @ 21 ared
KSHR /X3 4 B 1y aﬂ.da;mwﬁ/SPACE FOI:_ ROUGH WORK e p,T&
VIcTwam  gRITAIM®  Z°N BRI T AT
kKev o c W éﬂyﬁp Ctd vV A R

-~ ?

\QE



66. ‘a1 + e % v & A e we SR

L & -

(1) HBTEA

(2) PpameTEA

(3) PILH

(4) PpamET

(5) ST & [ A
67. ‘FIEY FEE US 1 Sira fme ¥ -

(1) T gew

(2) ®ET 3oy

(3) & JeW -

(4) Piwd Tow =

(5) ST & e

68. mmmmﬁﬁmﬁa‘rmmm

T g 7

L

(1) @& fr=d &t @ %v&wmm

@I —.
(2) S8 @I, ﬁmmw@fm'
(3)3111‘13%%%% y

(4)§qﬁmsmﬁu%€r?
(5) T & I G@wEd

69. ‘FETE ¥ HEA B Y FUGH AU ¥ —
(1) =1 @il <3

@) oia 7 om ¥
() & & BT -
(4) #ar Breat W S

(5) wux 7€ A Aed

70. ‘T smmaa‘rﬁmmgaaquhmﬁwz%—

(1) g

(2) st&T -
(3) sifarerT fr
(4) =TT :
(5) saT FE & am%f

£ 2# )
“}{)\)

72.

(S)WHﬁ%mm%

73.

74.

9.
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70, W T A T

(1) =2

(2) =&

@3} 7%

) #

(5) st Tl & aﬁﬁ

aﬁaﬁg&@«aﬁa-mieragma% ?
(1) &

@) gt 4
(3)
ORI '

o

ﬁﬁﬁﬁﬁ%ﬁ?—maﬁmquﬁ%
Ty 7 ¢
(1) TR ;f’.’l

) SwEa fE
(3) ST -
(4) gegaE .

(5) STX \E I A [

‘grfeRIe’ am‘ési%qu‘rﬁmﬂmgaa
IR & — O

(l)msﬁm%wﬁa
(2)311331%@'8%@%‘"6@&16
(3)@1‘57*@3%%%%&:3
(4)*1%@?:&131%!1%@&:3
(5) STX 7@ < A

T W A T %—c}f&m ST wr ¥ -
(1) W (".
() vifsw O
(3) atwiva =

(4) wied [~
(5) STy 7€ < A
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ad 1950 F 2% ¥ womd oy
AT T ST N Y e a fay

@ A qecgen e
1) &F I

( -
(3) T il

i ol B E?
(1) BT @)
) SRS )
() SIEIN] -
@) gfeqor STWHBIBT (7
o
78, Rt el TSETT B St (AT & Ry
FTEE FHEAT &7 |
(1) &
() o
() d= ,.
(4) v o
(5) ST T & et
79. Freafiiae % & Reg, Tod &1 W B o T
FEAME?
(1) wtew
(2) Hurerg
() T W
@) sdte .
(5) e T 2 e
8. P 1 ﬁﬁﬁlﬂ) ;
-@-I :.._‘{ W @-II
g- Ttz HAWE - I 1918

) A i IL 1919
. WA o B g ML 1922
sy T Gt Iv. 1930
(l)ﬁqmﬁaﬁq’fﬁﬂﬁwgmz
% ﬁ-lll, B, ¢, D-IV .
-1l B-ly, C-1, D-III
,BBiI, C-11, D-IV
> B-], C‘-? : -
6) v 20 V, D-1II

76.

ks

78.

79.

80.

S TR
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Civil Rights Movement of 1950's put an end
to social discrimination. From where did the
movement begin?

(1) UK.

(2) FRANCE

(3) GERMANY

@) US.A. |

(5) Not attempted

Which country has taken over the
Presidentship of G-20 from India in the year
20237 A
(1) Canada -’
(2) Bangladesh-’
(3) Brazil e
(4) South Africa
(5) Not attempted
™
How many functional units are there in
Indira Gandhi National Centre for the
Arts (IGNCA)?

(1) Seven

(2) Nine (O]
(3) Three -
(4) Five —

(5) Not attempts d

Which of the following states is known as
'Sandalwood state of India'?

(1) Karnataka®

(2) Meghalaya

(3) Uttar Pradesh

(4) Chhattisgarh,

(5) Not attempted

Match the following :

List-I - List-II
A. Rowlatt Satyagraha I 1918
B. Civil disobedience . 1919

movement
C. Mill workers' strike 1L 1922
D. Non-cooperation IV. 1930
movement-’

Choose the correct answer from options
below : G

(1) A-IIL, B-IEYC-I, D-1v

(2) A-IL, B-IV; C-I, D-III

(3) A-lll, B-LyO-11, D-IVv

(4) A-IL, B-L, C-IV, D-III

(5) Not attempted

N/
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ia was the first one to

. in Ind
, 81. Which State.m i sehieme?
of s ¥ P T ¥ qeaTE WO Qo gE B . troduce Mid day me?
oA’ (1) Tamil Nadu
(1) TS (2) Karnataka
2 aa‘vﬁZﬁ (3) Andhra pradesh
(3) o R (4) Kerala
(@) & ' (5) Not attempted
(5) SO 7 & A
. §2. Which is the second largest continent after
82. dw % fra @ wfir & a= @ q T Asia in terms of area?
TETEN FA-A Y (1) Australia
(1) smfern (2) Africa
(2) SmhIT (3) Antarctica
(3) F=THIEHT (4) Europe
(4) T (5) Not attempted
(5) Sux & I AEd
T o 83. The National School of Drama (NSD) was
85, eﬁ:ﬂa feremera ( ) @1 e o o set up in which year?
g o (1) 1975
(1) 1975 @) 1959
(2) 1959 311950
(3) 1950 3)
(4) 1976 (4) 1976
(5) TET & T A (5) Not attempted
84. arEEdT S @ a9 §% RpaT AT e Ream 84. Non-cooperation movement was called off
Y Prefofaa & O Rpg oy & o7 @ &Y A7 when peasants set fire to a police station in :
(1) <& dra (1) Chauri Chaura
(2) dureer (2) Champaran
(3) FETEET (3) Ahmedabad
(5) waT 7 T AT (5) Not attempted
85, T AT Rra i & R &7 85. g;;:rt)mosphere is divided into how many
1) g™ y
52; i (1) Five
3y (2) Seven
@) oS (3) Nine
, (4) Eight
5) wat 7E T awd
%) (5) Not attempted
IKSHR / X3 / Page 20 Th @ & TG T / SPACE FOR RouaH WORK
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g6, wia= fohahe Reemdt aw wim fo8 21 % fvw | 86. Famous cricketer Ben Stokes plays

fode am g international cricket for which country?
(1) giis (1) New Zealand
(2) §is (2) England
(3) sy (3) Australia
@) =T . (4) West Indies
(5) ST & [T gy (5) Not attempted

g7, fom ad asfﬁ'gamwaﬁq% TS T T 87. In which year did the Congress and the

et 5y &7 Muslim league sign the Lucknow pact?
(1) 1909 (1) 1909
) 1915 (2) 1915
2
@) 1906
(5) SO & I Ay (5) Not attempted
. 5 o : . 88. In Mahatma Gandhi National Rural
. 5005 W(T%ﬁ iy (T Y G‘&ﬁm’f Employment Guarantee Act 2005
)5 (T ) AT THR J o F ey (MGNREGA), how many days of
R & Torme & T & 37 employment are guaranteed in a year by
(1) 75 &= the Indian Government?
(2) 100 fe= ; (1) 75 Days
: 4) 120 D
(5) Te T ¥ e ¢ 130 Days

(5) Not attempted

8. g =fr % af 2019 ¥ e e @ B @SR 89. Who won the

'‘Bharat Ratna Award' for year

e ? 2019?
(1) wra gt (1) Pranab Mukherjee
"(2) =7 U9 ESIEHT (2) Dr. Bhupen Hazarika
(3) . d.um.em. T ' (3) Prof. CN.R. Rao
(4) @R Rifeeee @ ' : - (4) Ustad Bismillah Khan
(5) ST & st | (5) Not attempted
90, P g & s Geer T8 < E7 90. Which .bird do.es not make its own nest?
1) T e (;) Indian robin
® s , e
3) (3) Tailor bird
3 W fafear (4) Weaver bird
) T ffey (5) Not attempted

O) 3o s 2 qred
'KR\ — o 2 forg 2T / SPACE FOR ROUGH WORK PTO.
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o1,

92,

93.

94.

95.

is "3
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Change the following sentence to indirect

speech.

He said. "Nambiar works hard."

(1) He said that Nambiar was working hard.

(2) He said that Nambiar had worked hard.

(3) He said that Nambiar had been working
hard. A

(4) He said that Nambml \\01l\ed hard.

(5) Not attempted -

Choose the correctly spelt word :
(1) incradulous
(2) incredulous
(3) incredulus
(4) incradulus
(5) Not attempted

(O
)
ch
Pick out the part ofsthe sentence which
has an error. If there ig-no error, your answer

2

v
The whole block of ﬂats /
A
including two shops were /
- B ,
destroyved in the earthguake.
C D
() B )
2) C N
(3) No error [
4) A 1

(5) Not attempted [

Choose the alternative which best expresses
the given sentence in Passive Voice.

Must we cut this treé?)

(1) Must this tree was cut?

(2) Must this tree be“cut?

- (3) Must this tree is cut?

(4) Must this tree will-cut?
(5) Not attempted -1
f i
Find out the synonym of the underlined word

in the following sentence.

Colours, like featurés) follow changes of |

emotions. )
(1) movements (@)
(2) sentiments an

(3) under-current [~
(4) moments -
(5) Not attempted (™

96.

97.

98.

99,

Replace the underlined word/phrase with an
alterpative to make a grammatically correct
sentence. (

"The ladder will be collapse if you push the
wall with both the hands.

(1) will have collapsed

(2) will have been collapsing

(3) No change v

(4) will collapse [ -

(5) Not attempted

Choose the alternanve which best expresses
the meaning of the underlined idiom.

Our hockey team scored the winning goal
at the eleventh hour

(1) at a crucial tlme

(2) before an hour .

(3) at the last minute-

(4) in the beginning

(5) Not attempted

Fill in the blank with’correct form of verb.
Neither of the two men very strong.
(1) was 0
(2) will be ol
(3) shall be e
(4) were :1

(5) Not attempted

Arrange the followmg parts of the sentence
to make a meamngful‘ sentence.

A. to understand &

B. to many people‘ -

C. threatening and" even impossible

D. grammar appeats

(1) BDCA }_f_‘
(2) DACB pv
(3) ADBC
(4) CABD

(5) Not attempted “‘)

100.Find out the antonym)of ‘democracy’.

k:\

(1) republig
(2) delicacy [
(3) monarchy ri
(4) popular

(5) Not attempted
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